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Roll No. ....................................                                                  
Signature of Invigilator ……………………… 

    

  iratfy fo'ofo|ky; 

University of Patanjali 
Examination Dec. – 2017 

 

B.Sc. Yoga Science (Semester: First) 

Yoga Science 

Human Anatomy & Physiology 
Time: 3 Hours                     Max. Marks: 70

Note: This paper is of seventy (70) marks divided into three (03) sections A, B, and C. Attempt      
                  the questions contained in these sections according to the detailed instructions given therein. 
uksV % ;g iz'ui= lÙkj (70) vadksa dk gS tks rhu (03) [kaMksa d] [k] rFkk x esa foHkkftr gSA 

izR;sd [k.M esa fn, x, foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA 
 

Section - A @ [k.M&d 
(Long Answer Type Questions) @(nh?kZ mÙkjh; iz'u) 

Note: Section 'A' contains five (05) long-answer-type questions of fifteen (15) marks each. Attempt any 

three questions.                                                                                                           (3×15=45)  

uksV %  [k.M ^d* esa ikap (05) nh?kZ mÙkjh; iz'u fn, x;s gSa] izR;sd iz'u ds fy, ianzg vad 
fu/kkZfjr gSaA fdUgha rhu iz'uksa ds mÙkj nhft,A  

 

1. IykTek fÖkYyh ls gksus okys lfØ; æO; LFkkukUrj.k dks leÖkkb;sA 
Describe the processes of active transport substances across the Plasma membrane.    

2. 'kjhj esa isf'k;ksa ds çdkjksa dh O;k[;k djrs gq,] is'kh ladksp dh çfØ;k dks leÖkkb;sA 
Write down the types of muscles in the body and mechanism of muscles contraction.  

3. p;kip; dh ifjHkk"kk nsrs gq, olk ds p;kip; dks leÖkkb;sA 
Define metabolism and explain lipid metabolism.  

4. vfLFkeTtk LFkkukUrj.k ,oa LVse dksf'kdk LFkkukUrj.k dk egÙo leÖkkb;sA 
Explain the importance of bone marrow transplants and stem cell tourism. 

5. 'kjhj ds fofHkUu Hkkxksa ls jDr laxzkgd eq[; iFkksa dks leÖkkrs gq, rqyuk djsaA 
Describe and compare the major routes that blood takes through various regions of the body.   

 

 Section - B @ [k.M&[k 
(Short Answer Type Questions) @(y?kq mÙkjh; iz'u)  

Note:  Section 'B' contains Six (06) short-answer-type questions of five (05) marks each. 

Attempt any four (04) questions.                                                                               (4×5=20) 

uksV %  [k.M ^[k* esa N% (06) y?kq mÙkjh; iz'u fn, x;s gSa] izR;sd iz'u ds fy, ikap vad fu/kkZfjr 
gSaA fdUgha pkj iz'uksa ds mÙkj nhft,A 

 

1- Ekkbfyfud̀r d̀r raf=dk ij fVIi.kh fyf[k,A 
Write down a short note on myelinated neurons. 

2- dsfj;ksVkbi D;k gS\ 
What is Karyotype? 

3- la;ksth mrd D;k gS\ bldk oxhZdj.k djsaA 
What is the connective tissue? Write down its classifications. 
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4- Qq¶Qql esa xSlh; vknku&çnku ij fVIi.kh djsaA 
Write a comments on Gaseous exchange in Lungs. 

5- jDr lewg ,oa jDr vknku ij laf{kIr fVIi.kh djsaA 
Write a comments on blood group and blood transfusion. 

6- ECG ij fVIi.kh fy[ksaA 
Write short note on ECG.  
 

Section - C @ [k.M&x 

(Objective Type Questions) @(oLrqfu"B iz'u) 
 Note:  Section 'C' contains ten (10) objective-type questions of half (0.5) mark each. All the 

questions of this section are compulsory.       (10×0.5=05) 

uksV %  [k.M ^x* esa nl(10) oLrqfu"B iz'u fn, x;s gSa] izR;sd iz'u ds fy, vk/kk vad fu/kkZfjr gSA 
bl [k.M ds lHkh iz'u vfuok;Z gSaA 

 

1- ikni dksf'kdk ,oa tUrq dksf'kdk esa eq[; vUrj gS fd ----------- 

¼v½ tUrq dksf'kdk esa dksf'kdk fHkÙkh ugha gksrh  ¼c½ tUrq dksf'kdk esa osD;wvksy gksrs gSa 

¼l½ ikni dksf'kdk esa dksf'kdk fHkÙkh ugha gksrh  ¼n½ ikni dksf'kdk esa NksVs osD;wvksy gksrs gSa  
The main difference between animal & plant cell is that .................... 

(A) Animal cell lack rigid cell wall    (B) Animal cells have vacuoles  

(C) Plant cell lack rigid cell wall    (D) Plant cells have small vacuoles 
2- çksdsfj;ksfVd dksf'kdk ugha j[krh----------------- 

¼v½ dksf'kdk fHkÙkh     ¼c½ dsUæd fÖkYyh 
¼l½ lkbVksIykTe      ¼n½ IykTek fÖkYyh 
Prokaryotic cell does not possess, ...................... 

(A) Cell wall       (B) Nuclear membrane 

(C) Cytoplasm       (D) Plasma membrane 
3- vfLFk dk fØ;kRed lg;ksxh gS --------------------------------------- 

¼v½ Vs.Mu      ¼c½ fyxkes.V 
¼l½ dadky is'kh      ¼n½ Qsfl;k 
The functional partners of bone is ............. 

(A) Tendon       (B) Ligament 

(C) Skeletal muscle      (D) Fasciae 
4- gkbfyu r:.kkfLFk ugha j[krh \ 

¼v½ ruq       ¼c½ dksf'kdk 
¼l½ ysdquk      ¼n½ jÙkG dsf'kdk 
Hyaline cartilage does not process ? 

(A) Fibers       (B) Cells 

(C) Lacunae        (D) Blood capillaries   
5- Vªsfd;k ds eq[k dks <adus okyh NksVh lajpuk tks mÙkd ls cuh gS] dykrh gS\ 

¼v½ XyksfVl      ¼c½ Vªsfd;k 
¼l½ ,fiXyksfVl      ¼n½ ySfjDal 
Opening to the trachea is covered by a small flap of tissue termed as the ........   

(A) Glottis        (B) Trachea 

(C)  Epiglottis      (D) Larynx  

6- QSQM+ksa }kjk cy iwoZd vUr%'oflr vf/kdre ok;q dh ek=k dks dgrs gSa\ 

¼v½ okbVy dSisflVh ({kerk)    ¼c½ VkbMy oksY;we (vk;ru) 
¼l) dqy Qq¶Qql {kerk     ¼n½ vUr%'olu {kerk 
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The maximum volume of air contained in the lung by a full forced inhalation is called ........ 

(A) Vital capacity     (B) Tidal volume 

(C) Total lung capacity      (D) Inspiration capacity   
7- fdl ,d dks NksM+dj /keuh vkWDlhtuhd̀r jDr dk ogu djrh gS\ 

¼v½ dkfMZ;d (ân; /keuh)    ¼c½ flLVsfed (nSfgd) 
¼l½ fgisfVd (;d̀r /keuh)    ¼n½ IkYeksujh (Qq¶Qqlh;) 
Arteries carry oxygenated blood except which one .............. 

(A) Cardiac       (B) Systemic 

(C) Hepatic       (D) Pulmonary 
8- foVkfeu , dgykrk gS -------------------- 

¼v½ Fkkbfeu      ¼c½ jsfVuksy 
¼l½ jkbcks&¶ysfou     ¼n½ fijhMkWDlhu 
Vitamin A is called ......................... 

(A) Thiamine      (B) Retinol 

(C) Riboflavin       (D) Pyridoxine 
9- Yk?kqre vfLFk gS] ekuo 'kjhj esa ----------------- 

¼v½ gk;ksM vfLFk      ¼c½ feyh;l vfLFk 
¼l½ bUdl vfLFk      ¼n½ LVsihl vfLFk 
Smallest bone of the Human body is  ................. 

(A) Hyoid bone      (B) Millius bone 

(C) Incus bone       (D) Stepies bone 
10- jDr ds foijhr izokg dks jksdus okys dikV dk uke D;k gS ------- 

¼v½ czkaSfd;y dikV     ¼c½ yfldk dikV 
¼l½ ,fj;y dikV     ¼n½ csfl;u dikV 
Back flow of blood is prevented by a valve classified as ............... 

(A) Bronchial valve     (B) Lymphatic valve 

(C) Arial valve       (D) The besian valve 

 

---------------x--------------- 

 

 


